BN YN A ER AR E R ERR-MT & B 5 LR %

YRR

—-MTR it B 2% N T
. BH——14
I - |
r 5
R~ FES 5
UREE Uik 324 o EREl ER
BREL bl nom. | max. | nom. | max.
BHE
D P1 | P2 | P3 D1 | H | DT DJ n SwW a DS S L F1 F2 M1 M2
[mm] [mm] [mm] [mm] [mm] [mm] [kgl [kN] [Nm]

MT-M16x. . /W Mi6 | 2.0 1.5 1.0 34 16 25 [M6x0. 75 4 5 6 32 3 33 0.11 73 94 14 18
MT-M20x. . /W M20 | 2.5 1.5 1.0 38 16 29 [M6x0. 75 6 5 6 38 4 34 0.14 110 140 14 18
MT-M22x. . /W M22 | 2.5 1.5 1.0 41 16 31 [M6x0. 75 6 5] 6 41 4 34 0. 16 110 140 14 18
MT-M24x. . /W M24 3.0 2.0 1.5 44 16 33 [M6x0.75 8 5 6 43 4 34 0. 19 145 187 14 18
MT-M27x. . /W M27 | 3.0 [ 2.0 | 1.5 50 24 39 |M8x1 6 6 6 50 5 45 0. 35 214 285 36 48
MT-M30x. . /W M30 [ 3.5 2.0 1.5 53 24 42 [M8x1 6 6 6 53 5 45 0.37 214 285 36 48
MT-M33x. . /W M33 [ 3.5 2.0 1.5 59 24 45 |M8x1 8 6 6 59 5 45 0. 48 285 380 36 48
MT-M36x. . /W M36 | 4.0 3.0 1.5 66 32 51 [M10x1.25 6 8 8 66 5 57 0.76 343 457 72 96
MT-M39x. . /W M39 4.0 3.0 1.5 70 32 54 [M10x1. 25 8 8 8 70 5 57 0.9 457 610 72 96
MT-M42x. . /W M42 | 4.5 3.0 1.5 75 32 57 [M10x1. 25 8 8 8 73 5 57 1.01 457 610 72 96
MT-M45x. . /W M45 | 4.5 3.0 1.5 83 38 63 |M12x1.25 8 10 10 81 6 68 1.48 700 935 131 175
MT-M48x. . /W M48 5.0 3.0 1.5 85 38 66 |M12x1.25 8 10 10 85 6 68 1.5 700 935 131 175
MT-M52x. . /W M52 [ 5.0 3.0 | 2.0 94 38 70 [M12x1.25 8 10 10 89 6 68 1.8 700 ©fa) 131 175
MT-M56x. . /W M56 5.5 1 4.0 2.0 100 38 76 [M12x1.25 8 10 10 95 6 68 2 700 935 131 175

MT-M60x. . /W M60 | 5.5 | 4.0 | 2.0 | 107 38 78 [M12x1.25| 10 10 10 100 6 68 2.3 875 1160 131 175

MT-M64x. . /W M64 | 6.0 | 4.0 | 2.0 | 113 53 87 [M16x1.5 8 14 12 112 8 92 3.65 1270 1690 315 420
MT-M68x. . /W M68 | 6.0 | 4.0 | 2.0 | 117 53 91 [M16x1.5 8 14 12 117 8 €2 3.85 1270 1690 315 420
MT-M72x. . /W M72 | 6.0 [ 4.0 [ 2.0 [ 120 56 95 |M16x1.5 8 14 9 120 8 92 4 1270 1690 315 420
MT-M76x. . /W M76 | 6.0 | 4.0 | 2.0 [ 132 56 100 |M16x1. 5 12 14 9 127 8 92 5.1 1900 | 2530 315 420
MT-M80x. . /W M8O | 6.0 | 4.0 | 2.0 | 132 56 103 |M16x1.5 12 14 9 127 8 92 4.8 1900 | 2530 315 420
MT-M85x. . /W M85 | 6.0 | 4.0 | 2.0 | 137 56 108 |M16x1.5 12 14 @ 137 8 92 5.1 1900 | 2530 315 420
MT-M90x. . /W M9O | 6.0 | 4.0 | 2.0 | 145 59 113 |M16x1.5 16 14 13 140 8 99 6 2530 | 3380 315 420
MT-M100x. . /W [ M100| 6.0 | 4.0 [ 2.0 | 164 61 123 |M16x1.5 16 14 11 152 8 99 7.8 2530 | 3380 315 420
MT-M110x../W [M110| 6.0 | 4.0 | 2.0 | 177 79 139 |M20x1.5 12 17 16 172 10 125 11.4 | 3150 | 4200 645 860

MT-M120x../W [M120| 6.0 [ 4.0 | 2.0 | 189 | 81 149 [M20x1.5 16 17 14 179 10 125 13 4200 | 5600 645 860

MT-M125x.. /W [MI125] 6.0 | 4.0 | 2.0 | 194 81 154 |M20x1.5 16 17 14 190 10 125 13.5 [ 4200 | 5600 645 860

MT-M130x../W [MI130| 6.0 | 4.0 [ 2.0 | 205 94 159 |M20x1.5 18 17 16 202 10 140 17.5 | 4700 | 6300 645 860

MT-M140x../W [ M140| 6.0 | 4.0 | 2.0 | 215 94 169 |M20x1.5 20 17 16 215 10 140 18.7 5250 | 7000 645 860

<

MT-M150x../W [M150| 6.0 [ 4.0 | 2.0 | 225 Gt 179 |M20x1. 5 20 17 16 225 12 142 20 5250 | 7000 645 860

MT-M160x. . /W [ M160| 6.0 | 4.0 - 234 | 107 | 189 [M20x1.5 24 17 23 234 12 162 24.1 | 6300 | 8400 645 860

25




DR SNAER AR

WX A

BRRRR-CY FZ 51 A% 42

__CY;FI:J‘F Fllzllfl %ﬁ“‘%%@ x| 1 13 2 5w
-
& ale d
H
Rt WEH HsE
R R ThfEER 22 B ARE|EE
BREL WEE nom. | max. | nom. | max.
e
D P1 | P2 | P3 D1 | H | DT DI n Sw a DS S L F1 F2 M1 M2
[mm] [mm] [mm] [mm] [mm] [mm] | [kel [kN] [Nm]

CY-M16x. .. /W M16 2 1.5 1.0 34 16 25 |M6x0. 75 6 5 6 32 3 33 0.12 110 140 14 18
CY-M20x. .. /W M20 2.5 1.5 1.0 38 17 29 |M6x%0. 75 8 5 5 38 4 34 0.15 145 185 14 18
CY-M22x.../W M22 2o ® 1.5 1.0 41 17 31 |M6x0. 75 8 5 5 41 4 34 0. 17 145 185 14 18
CY-M24x. .. /W M24 3.0 2.0 1.5 47 24 36 |M8x1 6 6 6 47 4 44 0.3 215 285 36 48
CY-M27x.../W M27 3 0 2.0 . 5 51 24 39 |M8x1 8 6 6 50 5 45 0.37 285 380 36 48
CY-M30x. .. /W M30 3.5 2.0 1.5 54 24 42 |M8x1 8 6 6 53 5 45 0.38 285 380 36 48
CY-M33x.../W M33 3.5 20 © 1.5 62 32 48 [M10x1. 25 [§) 8 8 61 5 57 0.7 345 460 72 96
CY-M36x. .. /W M36 4.0 3.0 1.5 66 32 51 |M10x1. 25 8 8 8 66 5 57 0.79 | 455 610 72 96
CY-M39x. .. /W M39 4.0 3.0 1.5 72 32 54 |M10x1. 25 10 8 8 70 5 57 0.97 570 760 72 96
CY-M42x. .. /W M42 4.5 3.0 1.5 76 32 57 |M10x1. 25 12 8 8 73 5 57 1.1 685 915 72 96
CY-M45x. .. /W M45 4.5 3.0 1.5 81 38 62 [M12x1. 25 8 10 10 80 6 68 1.4 700 910 131 175
CY-M48x. .. /W M48 5.0 3.0 1.5 85 38 66 |M12x1.25 10 10 10 85 6 68 1.54 | 875 | 1170 | 131 175
CY-M52x. .. /W M52 5.0 3.0 2.0 94 38 70 M12x1.25 12 10 10 90 6 68 1.8 1050 | 1400 [ 131 175
CY-M56x. .. /W M56 5.5 4.0 2.0 98 38 74 [M12x1. 25 12 10 10 94 6 68 1.93 | 1050 | 1400 131 175
CY-M60x. . . /W M60 5.5 4.0 2.0 107 59 83 [M16x1.5 8 14 13 106 8 99 3.7 1270 | 1670 | 315 420
CY-M64x. .. /W M64 6.0 4.0 2.0 113 59 87 [M16x1.5 10 14 13 112 8 99 4.1 1580 | 2100 | 315 420
CY-M68x. . . /W M68 6.0 4.0 2.0 117 59 91 [M16x1.5 12 14 13 117 8 99 4.3 1900 | 2530 | 315 420
CY-M72x.../W M72 6.0 4.0 2.0 121 59 95 [M16x1.5 12 14 13 120 8 99 4.5 1900 | 2530 | 315 420
CY-M76x. .. /W M76 6.0 4.0 2.0 132 61 102 [M16x1. 5 16 14 11 127 8 99 5.6 | 2530 | 3370 | 315 420
CY-M8Ox. . . /W M80 6.0 4.0 2.0 133 61 103 [M16x1.5 16 14 11 127 8 99 5.4 | 2530 | 3370 | 315 420
CY-M85x. .. /W M85 6.0 4.0 2.0 139 61 108 [M16x1. 5 16 14 11 137 8 99 5.8 | 2530 | 3370 | 315 420
CY-M90x. . . /W M90 6.0 4.0 2.0 145 61 113 [M16x1.5 16 14 11 140 8 99 6.3 | 2530 [ 3370 | 315 420
CY-M100x. .. /W | M100 6.0 4.0 2.0 157 61 123 |M16x1.5 16 14 11 152 8 99 7 2530 | 3370 | 315 420
CY-M110x.../W | M110 6.0 4.0 2.0 177 61 133 [M16x1.5 20 14 11 163 8 99 9 3180 | 4200 | 315 420
CY-M120x.../W | M120 6.0 4.0 2.0 189 81 149 |M20x1.5 18 17 14 179 10 125 13.1 | 4700 | 6300 | 645 860
CY-M125x.../W | M125 6.0 4.0 2.0 194 81 154 |M20x1.5 18 17 14 190 10 125 13.7 ] 4700 | 6300 | 645 860
CY-M130x. .. /W | M130 6.0 4.0 2.0 205 94 159 [M20x1.5 20 17 16 202 10 140 17.6 | 5250 | 7000 | 645 860
CY-M140x. .. /W | M140 6.0 4.0 2.0 215 94 169 |M20x1.5 22 17 16 215 10 140 18.89| 5750 | 7700 | 645 860
CY-M150x. .. /W | M150 6.0 4.0 2.0 225 94 179 |M20x1. 5 22 17 16 225 12 142 20.1 | 5750 | 7700 | 645 860
CY-M160x. .. /W | M160 6.0 4.0 - 226 107 189 |M20x1.5 24 17 23 220 10 160 20.8 | 6300 | 8400 | 645 860

26




DR SNAER AR

3l

PR BERI-H650 Z 51y LS 2

——H650§£F%%ﬂ1‘%ﬁ wp, | g 3 2 5
Alalo
t - g L.
H
R~ W& |(HHE
i3S Uik 12 = REE | ER
BRLL WEE nom. | nom.
Eithss
D |PL|P2| P3| DL | H | DT DJ n SW a DS S L F1 M1
(mm] (mm] (mm] (mm] (mm] [mm] | [kgl | [kN] | [Nm]
H650-M20x.. /W | M20 | 2.5 | 1.5 | 1.0 | 38 | 16 | 29 [M6x0.75 |6 5 6 38 4 34 | 0.14| 75 10
H650-M22x.. /W | M22 | 2.5 | 1.5 | 1.0 | 41 | 16 | 31 [M6x0.75 6 5 6 41 4 34 |0.16| 94 12
H650-M24x.. /W | M24 | 3.0 | 2.0 | 1.5 | 44 | 16 | 33 [M6x0.75 8 5 6 43 4 34 |0.19| 110 11
H650-M27x.. /W | M27 | 3.0 | 2.0 | 1.5 | 50 | 24 | 39 [M8x1 6 6 6 50 5 45 | 0.35| 140 24
H650-M30x.. /W | M30 | 3.5 | 2.0 | 1.5 | 53 | 24 | 42 [M8x1 6 6 6 53 5 45 [0.37| 175 30
H650-M33x.. /W | M33 | 3.5 | 2.0 | 1.5 | 59 | 24 | 45 [M8x1 8 6 6 59 5 45 | 0.48| 215 27
H650-M36x.. /W | M36 | 4.0 | 3.0 | 1.5 | 66 | 32 [ 51 |wiox1.25| 6 8 8 66 5 57 | 0.76 | 255 53
H650-M39x.. /W | M39 | 4.0 | 3.0 1.5 | 70 | 32 | 54 [Mi0x1.25| 8 8 8 70 5 57 0.9 | 300 47
0650-M42x.. /W | M42 | 4.5 | 3.0 | 1.5 | 75 | 32 | 57 [Mi0x1.25| 8 8 8 73 5 57 | 1.01| 350 55
H650-M45x.. /W | M45 | 4.5 | 3.0 | 1.5 | 83 | 38 | 63 [Mi2x1.25| 8 10 10 81 6 68 | 1.48| 405 75
H650-M48x.. /W | M48 | 5.0 | 3.0 | 1.5 | 85 | 38 | 66 [Mi2x1.25| 8 10 10 85 6 68 1.5 | 455 85
H650-M52x.. /W | M52 | 5.0 | 3.0 | 2.0 | 94 | 38 | 70 [M12x1.25| 8 10 10 89 6 68 1.8 | 540 | 100
H650-M56x.. /W | M56 | 5.5 | 4.0 | 2.0 [ 100 | 38 76 [M12x1.25 8 10 10 95 6 68 2 630 120
H650-M60x.. /W | M60 | 5.5 | 4.0 | 2.0 | 107 | 38 | 78 [MI12x1.25 | 10 10 10 | 100 6 68 2.3 | 740 | 110
H650-M64x.. /W | M64 | 6.0 | 4.0 | 2.0 | 113 | 53 | 87 [M16x1.5 8 14 12 | 112 8 92 |[3.65| 830 | 205
H650-M72x.. /W | M72 | 6.0 [ 4.0 | 2.0 | 120 | 56 | 95 |Mi6x1.5 8 14 9 120 8 92 4 1070 | 265
H650-M76x.. /W | M76 | 6.0 | 4.0 | 2.0 | 132 | 56 | 100 [M16x1.5 12 14 9 127 8 92 5.1 | 1200 | 200
11650-M80x. . /W | M80 | 6.0 | 4.0 | 2.0 | 132 | 56 | 103 [M16x1.5 12 14 9 127 8 92 4.8 | 1330 | 220
H650-M90x. . /W | M90 | 6.0 | 4.0 | 2.0 | 145 | 59 | 113 [M16x1.5 16 14 13 | 140 8 99 6 1730 | 215
H650-M100x. . /W [M100| 6.0 | 4.0 | 2.0 | 164 | 61 | 123 [M16x1.5 16 14 11 | 152 8 99 7.8 | 2170 | 270
H650-M110x. . /W | M110| 6.0 [ 4.0 [ 2.0 [ 177 | 79 | 139 |M20x1.5 12 17 16 | 172 | 10 125 | 11.4 | 2650 | 550
H650-M120x. . /W | M120| 6.0 | 4.0 [ 2.0 | 189 | 81 | 149 |M20x1.5 16 17 14 | 179 | 10 125 13 | 3210 | 500
H650-M125x. . /W | M125| 6.0 [ 4.0 [ 2.0 | 194 | 81 | 154 |M20x1.5 16 17 14 | 190 | 10 125 | 13.5| 3470 | 540

27




BN YN A ER AR E IR BE—H650T 5 51y i ILKS %

BERERY
——H650TAY ™ Wl FHAR 22 e (Fr e & 3

R+ TR |[HsE
WERE uikiia 3 e REE | EE
mﬁ :?EE nhom. hom.
k=2
D P1 P2 P3 D1 H DT DI n SW a DS S L F1 M1
[mm] [mm] [mm] [mm] [mm] [mm] [ke] [kN] | [Nm]
H650T-M24x. . /W M24 3 2.0 1.5 41 28 32 |M6x0.75 |8 5] 4 40 3 43 0.2 110 11
H650T-M27x. . /W M27 3.0 2.0 1.5 43 28 35 |M6x0. 75 10 5 4 43 3 43 0. 25 140 11
H650T-M30x. . /W M30 BN 2.0 1.5 46 28 38 |M6x0. 75 12 5 4 46 3 43 0. 25 175 11
H650T-M33x. . /W | M33 3.5 2.0 1.5 49 28 41 |M6x0. 75 14 5 4 49 3 43 0.3 215 12
HE50T-M36x. . /W | M36 4.0 3.0 1.5 53 28 44 [M6%0. 75 16 5 4 53 6 46 0. 35 255 12
H650T-M39x. . /W M39 4.0 3.0 1.5 61 38 50 |M8x1 10 6 5 61 4 57 0.6 300 30
H650T-M42x. . /W M42 4.5 3.0 1.5 64 38 53 |MBx1 12 6 5 64 4 57 0. 65 350 30
H650T-M45x. . /W M45 4.5 3.0 1.5 67 38 56 |M8x1 14 6 5 67 6 59 0.75 405 29
H650T-M48x. . /W | M48 5.0 3.0 1.5 72 38 59 |M8x1 14 6 5 70 10 63 0.9 455 33
HE50T-M52x. . /W | M52 5.0 3.0 2.0 79 46 66 [M10x1. 25 12 8 6 78 5 69 1.25 540 56
H650T-M56%. . /W M56 5.5 4.0 2.0 84 46 70 |M10x1. 25 14 8 6 82 10 74 1. 45 630 57
H650T-M60x. . /W M60 5.5 4.0 2.0 90 46 74 [M10x1. 25 16 8 6 86 14 78 1.75 740 58
H650T-M64x. . /W M64 6.0 4.0 2.0 96 62 80 |M12x1.25 12 10 8 96 18 102 2.75 830 105
H650T-M72x. . /W M72 6.0 4.0 2.0 106 62 88 |M12x1.25 16 10 8 105 6 90 2.8 1070 100
H650T-M76x. . /W | M76 6.0 4.0 2.0 114 62 96 [M12x1. 25 16 10 8 112 12 96 3.5 1200 110
HE50T-M80x. . /W | M8O 6.0 4.0 2.0 118 62 96 [M12x1.25 18 10 8 112 15 99 3.7 1330 110
H650T-M90x. . /W M90 6.0 4.0 280 135 80 111 [M16x1.5 14 14 © 135 9 117 6.1 1730 245
H650T-M100x. . /W | M100 6.0 4.0 2.0 149 80 121 |[M16x1.5 16 14 9 144 19 127 7.85 2170 270

28




DR SNAER AR

WREERI-S Y& ™ i LK 4

BEEEHY
ST B % L. ' 3
oo
R~ & H%E
IR RE TR g AaE| 2R
WRLL WEE nom. | max. | nom. | max.
e
D P1 | P2 | P3 D1 | H | DT DJ n SW DS S L F1 F2 M1 M2
[mm] [mm] [mm] [mm] [mm] [mm] | [kel [kN] [Nm]

SJ-M20x. . /W M20 2.5 1.5 1.0 43 15 32 |M8x1 6 4 43 4 19 0. 15 67 91 11 15
SJ-M22x. . /W M22 2.5 1.5 1.0 47 16 34 [M8x1 8 4 45 5 21 0.2 81 105 10 13
SJ-M24x.. /W M24 3.0 2.0 il & 50 16 36 |M8x1 8 4 48 5 21 0.2 89 120 11 15
SJ-M27x. . /W M27 3.0 2.0 1.5 53 16 39 |M8x1 10 4 50 5 21 0.25 100 130 10 13
SJ-M30x. . /W M30 3L 5 2.0 1.5 60 21 45  [M10x1. 25 8 5] 59 5 26 0.4 135 180 21 28
SJ-M33x.. /W M33 3.5 2.0 1.5 63 22 48 [M10x1.25 10 5 63 5 27 0.4 155 200 19 25
SJ-M36x. . /W M36 4.0 3.0 1.5 69 28 54 |M12x1. 25 8 6 69 5 B 0. 65 190 245 &5 46
SJ-M39x. . /W M39 4.0 3.0 1.5 75 28 57 |M12x1. 25 10 6 75 5 33 0.8 255 335 38 50
SJ-M42x. . /W M42 4.5 3.0 1.5 81 28 60 |Ml12x1.25 12 6 78 5 B8] 0.9 35 420 39 52
SJ-M45x. . /W M45 4.5 3.0 1.5 88 28 63 [M12x1.25 12 6 81 6 34 1 315 420 39 52
SJ-M48x. . /W M48 5.0 3.0 1.5 101 31 71 |M16x1.5 8 8 94 6 37 1.65 | 380 500 94 125
SJ-M52x. . /W M52 5.0 3.0 2.0 101 33 75 |M16x1.5 8 8 94 6 39 1.65 | 380 500 94 125
SJ-M56x. . /W M56 B, 5 4.0 2.0 113 55 79 |M16x1.5 12 8 100 6 39 2.05 | 570 760 94 125
SJ-M60x. . /W M60 5.5 4.0 2.0 117 33 83 [Ml6x1.5 12 8 106 6 39 2.15 | 570 760 94 125
SJ-M64x. . /W M64 6.0 4.0 2.0 119 23 87 |M16x1.5 12 8 120 8 41 2.45 | 570 760 94 125
SJ-M68x. . /W M68 6.0 4.0 2.0 138 38 97 |M20x1.5 12 10 | 125 8 46 3.6 710 950 145 195
SJ-M72x. . /W M72 6.0 4.0 2.0 151 38 101 |M20x1. 5 12 10 125 8 46 4.5 910 1200 185 245
SJ-M76x. . /W M76 6.0 4.0 2.0 151 38 105 |M20x1.5 12 10 138 8 46 4.35 | 860 1130 175 230
SJ-M80x. . /W M80 6.0 4.0 2.0 158 38 109 |M20x1.5 12 10 145 10 48 4.95 | 910 1200 185 245
SJ-M90x. . /W M90 6.0 4.0 2.0 170 51 125 |M24x2 12 12 160 10 61 7.2 1160 | 1530 | 280 370
SJ-M100x. . /W | M100 6.0 1.0 2.0 177 53 135 |M21x2 12 12 180 10 63 7.75 [ 1160 | 1530 | 280 370
SJ-M110x../W | M110 6.0 4.0 2.0 190 59 145 [M24x2 16 12 | 190 | 10 69 9.25 | 1550 | 2040 | 280 370
SJ-M120x.. /W | M120 6.0 4.0 2.0 202 59 155 [M24x2 16 12 | 202 10 69 10. 25| 1550 | 2040 | 280 370
SJ-M125x../W | M125 | 6.0 4.0 2.0 205 59 160  (M24x2 16 12 | 202 | 10 69 10. 25( 1550 | 2040 | 280 370
SJ-M130x../W | M130 6.0 4.0 2.0 210 51 165 [M24x2 16 12 | 202 10 69 10. 5 | 1550 | 2040 | 280 370
SJ-M140x.. /W | M140 6.0 4.0 2.0 221 59 175 |M24x2 16 12 | 215 12 71 11. 75| 1550 | 2040 | 280 370
SJ-M150x. . /W | M150 6.0 4.0 2.0 230 Bl 185 |M24x2 16 12 | 225 12 71 12. 25| 1550 | 2040 | 280 370
SJ-M160x.. /W | M160 6.0 4.0 - 240 59 195 [M24x2 16 12 | 240 | 12 71 13. 25| 1550 | 2040 | 280 370

29




